Приложение 2

1 Упростить:
а) [image: image2.png](ctg’a + 1)sin*a — cos?a




б) [image: image4.png]1-sin’a
costa—1




в) [image: image6.png]cos*a+ cos’asin’a




2. Найдите: cosα и tgα, если sinα= -0,8 и [image: image8.png]S <a<2m




3 Доказать тождество:
а) [image: image10.png]cos*a—sin*a

cosZa



 + 2[image: image12.png]tg’a



 = [image: image14.png]cos?a




б) [image: image16.png]%

sin*a—cos*a

sin?a



 + 2[image: image18.png]ctg*a



 = [image: image20.png]sina




в) [image: image22.png]sin*a + 2cos’a — cos*a=1




